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QUESTION 1

When doing a part search from home page, you have the Create Quote button to create a new Transaction. How do you
change the label of this button? 

A. Open the Commerce Process admin page, navigate to Process Actions, and change the label of the
"_action_new_transaction" action. 

B. Go to the Process Invocation admin page, open the Part Search Results page, select navigation "Rules" of the action
that has the type "Start", and change the name of the invocation rule which points to the right commerce process. 

C. Go to the Process Invocation admin page, open the Part Search Results page, and change the name of the action
that has the type "Start". 

D. Open the Text Administration admin page, go to "C", change the entry "Create Quote" and enter "Translated Text." 

Correct Answer: A 

 

QUESTION 2

The Related Parts data table exists in the QA environment and in the production environment. The table has 3,000
records in the QA environment and 4,000 records in the production environment. How many records will be present in
the data table in the production environment if this table is migrated from the QA environment? 

A. 7,000 

B. 3,000 

C. 4,000 

D. 1,000 

Correct Answer: C 

 

QUESTION 3

Which statement is a proper definition of a Punch-In? 

A. Punch-Ins are links that hook into a specific Commerce process in the system. They can be used to navigate directly
to a given Commerce process in your application. They can also be used to jump into a specific Commerce process
from an external website. 

B. Punch-Ins are links that hook into specific product families in the system. They can be used to navigate directly from
a product family to another in your application. They can also be used to jump into a specific product family from an
external website. 

C. Punch-Ins are links that relate into specific parts in the system. They can be used to search directly for a given part in
your application. They can also be used to search for a specific part from an external website. 

D. Punch-Ins are links that hook into specific pages in the system. They can be used to navigate directly from one page
to another in your application. They can also be used to jump to a specific page from an external website. 
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E. Punch-Ins are buttons that take you to specific pages in the system. They can be used to navigate directly from one
page to another in your application. 

Correct Answer: D 

 

 

QUESTION 4

What are three valid reasons for a Configuration rule failing to execute? (Choose three.) 

A. A runtime error occurs within the rule, which is firing before the current rule. 

B. The status of the rule is set to Inactive. 

C. The rule\\'s Condition attributes are hidden in Configuration Layout. 

D. The attributes used in the rule are not added in Configuration Layout. 

Correct Answer: BCD 

 

QUESTION 5

Identify two supported procedures for moving commerce library functions between environments without overwriting
other functions. (Choose two.) 

A. Full commerce migration 

B. Webservices 

C. Granular migration 

D. Migration packages 

E. Bulk download/upload 

Correct Answer: CD 

 

QUESTION 6

Which three discount types are available in pricing? (Choose three.) 

A. amount discount 

B. absolute price 

C. promotion discount 

D. quantity-dependent discount 

E. percent discount 
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Correct Answer: ADE 

 

QUESTION 7

A client wants customers to be able to select a laptop category from a drop-down list in the Product Configuration
section. After the laptop category is selected, all laptops within that category need to be displayed without the user
having to do 

any more selections. 

Which option meets this requirement? 

A. Formula Administration 

B. Util library function 

C. Commerce library function 

D. Auto Update 

Correct Answer: D 

 

QUESTION 8

How do you modify a specific user\\'s access (grant access or remove access) to Product Families, Supported Product
Families, and Data Table folders? 

A. For each Product Family or Data table folder affected, click the Modify tab for that item and then select or deselect
the check boxes related to the users you want to grant access to or remove access from for this Product Family or Data
Table folder. 

B. Click the user\\'s name on the User Administration List page to edit the user, click the Access Permission tab, select
or deselect the check boxes related to the items you want to grant access to or remove access from for this user. 

C. Click the Group name on the Group Administration List page that has this user as a member, click the Access
Permissions tab, select or deselect the check boxes related to the items you want to grant access to or remove access
from for this user. 

D. Go to the Product Family definition or the Data Table folder properties for which you want to grant or remove access,
click the Access Permissions tab, select or deselect the check boxes related to the users you want to grant access to or
remove access from for this Product Family or Data Table folder. 

E. Use the Navigation Menus item on the Administration home page to grant or remove access to specific Product
Families or Data Table folders for the user. 

Correct Answer: C 

 

QUESTION 9

What is the correct order of execution of Configuration rules for an attribute that has both Recommendation and
Constraint rules written on it? 
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A. Recommendation, Constraint, Hiding, Recommended Item 

B. Constraint, Hiding, Recommendation, Recommended Item 

C. Constraint, Recommendation, Constraint, Hiding, Recommended Item 

D. Hiding, Constraint, Recommendation, Recommended Item 

E. Recommendation, Recommended Item, Hiding, Constraint 

Correct Answer: D 

 

QUESTION 10

When creating a connection for a CPQ SOAP Endpoint in ICS, which format is expected? 

A. Error! Hyperlink reference not valid. 

B. Error! Hyperlink reference not valid. 

C. Error! Hyperlink reference not valid. 

D. Error! Hyperlink reference not valid. 

Correct Answer: A 

 

 

QUESTION 11

Which format will datetostr (getdate()) return when no format is supplied? 

A. DD/mm/yyyy HH:mm:ss 

B. HH:mm:ss MM/dd/yyyy 

C. HH:mm:ss DD/mm/yyyy 

D. MM/dd/yyyy HH:mm:ss 

Correct Answer: D 

 

QUESTION 12

A Commerce Constraint rule has been used to show only the applicable currencies in the Currency attribute based on
the value selected in the Country attribute. After selecting the value in the Country attribute, what should be performed
to run the specified Constraint rule? 

A. Any action will trigger the Constraint rule. 

B. The Save action must be performed. 
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C. No additional action is needed. 

D. The Submit action must be performed. 

Correct Answer: C 

 

QUESTION 13

You want to perform a configuration migration from a development site to a QA site. What is the Oracle-recommended
way to accomplished this? 

A. Using a DB Link, log in to the development site through the Migration Center section, select the components that
need to be migrated, and start the migration. 

B. Open Migration Center in the development site, log in to the QA site through the Migration Center section, select the
components that need to be migrated, and start the migration. 

C. Open Migration Center in the QA site, log in to the development site through the Migration Center section, select the
components that need to be migrated, and start the migration. 

D. Download the components that need to be migrated from the development site and upload them to the QA site. 

Correct Answer: C 

 

QUESTION 14

Which three BOM Mapping Tables are required to map Configuration attributes to BOM items and Commerce
Transaction Line attributes using a simple Table-Based BOM Mapping Configuration rule? (Choose three.) 

A. BOM Attribute Translation 

B. BOM Attribute Definition 

C. BOM Item Definition 

D. BOM Item Mapping 

E. BOM Attribute Mapping 

Correct Answer: ACE 

 

QUESTION 15

Which are three testing strategies for Oracle CPQ Cloud? (Choose three.) 

A. Test cases should be directly linked to business requirements. 

B. Avoid using a test case tracking tool because it is time consuming to track all of the testing team\\'s efforts. 

C. Perform isolated tests as well as intra-system and cross-system integration tests. 
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D. Create specific test data for accounts, opportunities, and contracts in the CRM system and use that data to perform
end-to-end tests for CPQ Cloud quotes. 

Correct Answer: BCD 
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